Name_______________________

Practice Exam 1 - Analysis I – Spring 2002

(1) (a) Find the slope of the line perpendicular to the line 3x + 4y =18.

(b) Find the equation of the line parallel to the line that is your answer from (a) and passing through the point (3, -3).

(2) Find the following limits analytically.  You must show the necessary algebra for full credit.
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(3) Determine whether or not the following limits exist.  You must fully justify and explain each answer for full credit.
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(4) For the following limit, find the limit and give graphical evidence to support your answer.  Be sure to explain the limit from the graph.
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(5) Find all vertical asymptotes for the function 
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.  Show all the necessary algebra.
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